KERAOBESHERE RRIERER
B uSvh(RA4oao—X)LR/BF)

A= g AIEST: A HEELE
. ERHSDFHS

X & 100cm 50cm 5cm
’%*DZﬁSgﬁLEl KEEH 0.05 0.05 0.05
’%*DZﬁZg;LEl KEEH 0.06 0.06 0.05
SF251 Q;LEI KEEH 0.05 0.05 0.05
%%Difﬁw%}i 3E XHEH 0.06 0.06 0.06
SHITE 1% Ji SHAHEH 0.05 0.06 0.06
FHITHEA 0%}11 =P =] 0.05 0.06 0.05
%*ufcﬁs%ﬂus BXEER 0.06 0.06 0.05
‘%%ﬂiﬁgﬁ?ﬁﬁkﬂiﬁ 0.05 0.05 0.05
‘%%ﬂfcﬁ%ﬁﬁj HAEER 0.07 0.07 0.07
‘%%ﬂﬁ:ﬁ%ﬂﬁﬁ XEEH 0.06 0.07 0.06
‘%%ﬂiﬁ?ﬁ{yﬁ KER 0.06 0.06 0.06
qlmmﬁg;fiﬁkﬂiéﬂ 0.06 0.06 0.06
qlmmﬁg;fiﬁkﬂiéﬂ 0.06 0.06 0.06
k31 E{,FTEEUSE XiEH 0.06 0.06 0.07
Sllm31¢1;*ﬁEIKHEEEI 0.06 0.06 0.07
qzmzsoﬁg);ﬁlkﬁ%éﬁ 0.06 0.06 0.07
$mso¢1;;)ze AR 0.05 0.06 0.06
qzmzsoﬁg);zﬂkﬁ%éﬁ 0.06 0.06 0.05
SFEJ?,3OE9;H§4E| KEER 0.05 0.05 0.06
Sllﬁj‘zs(gbjs HJ:_]f LEIEEKH%E H 0.06 0.06 0.06
$&30$7§£EKH%EEI 0.05 0.05 0.06
Iliﬁj’zsoﬁezfl*i HAER 0.05 0.05 0.06
3Fﬁ]?,30$5:ﬁ*1 BHXEH 0.05 0.05 0.06
3Fﬁﬁ30$4:ﬁ*3 HAER 0.05 0.05 0.06
$&30$(§U6 HAER 0.05 0.05 0.06
Iliﬁj’zsoﬁzf*s BHXEH 0.05 0.05 0.06
$m30$1=;ija BAER 0.05 0.05 0.06
EFE£29¢12§):]¢5EIKB%EEI 0.05 0.06 0.05
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X & 100cm 50cm 5cm
294 1 %};]JEKEEE 0.05 0.06 0.05
315229¢1I?\%3E KEER 0.05 0.05 0.05
$ﬁkz9¢9}§ﬁ12EIKHEE 0.05 0.05 0.06
$ﬁkz9¢9§;t1 BRAER 0.06 0.06 0.06
Ellﬁizz%ﬁifis B&ER 0.05 0.06 0.06
EFEZZQEGLTEJ BAREH 0.05 0.06 0.06
EFEZ29¢9£L? HIkiER 0.05 0.06 0.06
EF&ZQ%%EESUE KEER 0.05 0.06 0.06
EF&ZQE?J{EIE%E HiEH 0.06 0.06 0.07
B ngﬁgu BH:kEH 0.06 0.06 0.06
EF&ZQE%EJE KEER 0.05 0.06 0.06
B ngﬁgﬁ BH:kEH 0.05 0.05 0.06
qlngﬁggﬁﬁkﬂiéﬂ 0.05 0.05 0.05
Sllﬁjzzgﬁgilﬁﬁ XiEH 0.05 0.05 0.05
Sllngﬁa;fi)? HkEH 0.05 0.06 0.05
qlﬁkzgﬁzg*ZEl KEER 0.06 0.05 0.06
TR 294 | g ;L 0H KEEH 0.05 0.05 0.06
qzmzzsﬁéieﬂkﬁ%éﬁ 0.06 0.05 0.05
Rk 2851 1%);1 B XEEBR 0.06 0.06 0.06
$&28¢1%§L4EKHEE 0.06 0.06 0.05
IFEJZZBEQ%J:EJ*]? BXEHR 0.03 0.05 0.06
qzﬁjzzsﬁguz AXEEBR 0.05 0.05 0.06
Iliﬁjzzsﬁgjﬁ KEER 0.06 0.06 0.06
$m28$6=§U7 BXEHR 0.06 0.05 0.05
T %2845 g L1J 0B KEEH 0.05 0.05 0.05
:szsﬁjth\EJ ﬂg BAEH 0.05 0.06 0.06
EFEJ'Z28$3;*1 BHXEH 0.06 0.06 0.05
Eliﬁj'zzsﬁzzgi BHXEH 0.06 0.06 0.06
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X & 100cm 50cm 5cm
k2851 g ;L S5EEER 0.06 0.06 0.05
ER284F 1 g;fEl REER 0.06 0.06 0.05
ER284F 1 Q;LISEUKEEE 0.05 0.06 0.06
E|Zﬁj228¢1lﬁlﬁ1ﬁ2El KEEH 0.06 0.05 0.06
F k2841 ; ;ﬁ H&iER 0.06 0.06 0.06
qzmzzsfﬁg*zaxﬂiéﬁ 0.06 0.06 0.06
qlmzzsfﬁ;;*iﬁkﬂiéﬁ 0.05 0.06 0.05
$Jﬂi27¢1ﬂ2%i1 SP 0.05 0.06 0.05
FER2IE 1555 0H:XEEH 0.06 0.06 0.06
$Jﬂi27¢1ﬂ0%)16EIKHEE 0.06 0.06 0.06
EF&Z?E?JJ\EJE% BH:kEH 0.05 0.06 0.06
qlmﬂﬁgﬁﬁﬁﬁkﬂiéﬂ 0.06 0.06 0.06
EF&Z?E%EJU? BH:kEH 0.05 0.05 0.05
215227&6;*55%@5 0.06 0.06 0.05
qzmz27¢5§%3)25 XEER 0.05 0.06 0.06
215227&;?] 7HXIEH 0.05 0.05 0.05
315227&3;52;5 KEER 0.05 0.06 0.05
SF&WEZ%H*EEIKH%EEI 0.05 0.06 0.05
SF&Z?ELFTEHUG BAEER 0.05 0.06 0.05
$&26¢1%§LZEIKHZEE 0.05 0.05 0.05
R 2651 %}%EIXHEEEI 0.06 0.06 0.06
Eﬁﬁﬁzeif%;ﬂﬁl XEER 0.06 0.06 0.06
3Fﬁﬁ26$9;*i BHXEH 0.06 0.06 0.06
Iliﬁj’zzeﬁsg*i HAER 0.06 0.06 0.07
Iliﬁj’zzeﬁgfl*l HAER 0.06 0.06 0.06
Iliﬁj’zzeﬁfgjﬁ KEEH 0.06 0.06 0.06
Eﬁﬁizeﬁsﬁﬁﬁmﬁkﬂéﬁ 0.06 0.07 0.07
EFEJ'Z26$4;*1 BAER 0.06 0.07 0.07
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qlmzzefﬁaﬁﬁ*iﬁkﬂiéﬁ 0.07 0.07 0.07
Eﬁﬁzzefﬁgﬁ BHkEH 0.07 0.07 0.07
EFHZzefﬁ?*Z BH:kEH 0.07 0.08 0.07
q25225¢12%i3EKHEE 0.07 0.07 0.07
q25225¢11%}15EIKHEE 0.07 0.07 0.07
q25225¢13%}5tl)1 HAER 0.06 0.07 0.08
Ellﬁji25£ﬁ§; ;EKH%EEI 0.07 0.08 0.08
S|Zﬁ25ﬁ8=£u6 BH:kEH 0.07 0.08 0.09
S|Zﬁ25¢g; *iEIKH%EEI 0.07 0.08 0.07




